SRR
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M ASTHHRLD
. N2 8T S

A
2Rl SRUSEZ & X

- - — PalE|
SN - B - O9(3) - NRAY - BES ol &rey e HimEE)
I P =t 59,350,360 58,907,060 443,300
Xl 44,517,000
| 275,000
L= 14,558,360
NEA MEE ST SE(FELXGNL/ILALETAI) 55,158,100 55,213,800 AB5,700
Xl 44,517,000
J| 275,000
L= 10,366, 100
SRUHSEE A4 KA 69,000 66,100 2,900
dRUSEE 24 Jd 29 39,000 36,100 2,900
201 B3| 8,000 6,000 2,000
01 AtR2teltl 8,000 6,000 2,000
Oggt==2H| 8,000
202 Oid| 17,000 15,000 2,000
01 3L 17,000 15,000 2,000
OERUSEL HEXd gRFd 17,000
203 HRF=4| 14,000 15,100 21,100
03 AIHZ=XAHR A 14,000 15,100 21,100
OHRUSEE A&XY 6PEX 14,000
HRUSEEE 201&s X2 30,000 30,000 0
201 B2 30,000 30,000 0
03 A2 30,000 30,000 0
OHRUSE Y A 30,000
oot & 2,826,700 2,970,000 143,300
Xl 1,879,000
| 275,000
L= 672,700
SHOILLHSHEMAILXIR (Eo CIOIHE 2284 X4) 2,442,700 2,262,000 180,700
Xl 1,879,000
L= 563,700
403 XRXISHIEA=01H 2,442,700 2,262,000 180,700
Xl 1,879,000
& 563,700
01 IXISHMA2EE 2,442,700 2,262,000 180,700
Odgdl COIHE 224 =4 2,442,700
Xl 1,879,000
L= 563,700
SaZ W= E =adXN gLl 357,500 682,500 A325,000
| 275,000
L= 82,500
403 XRXISHIEA=01H 357,500 682,500 A325,000
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A AROOHE D

M NRA VLY SBAMY SE(FELRSHL/XSLTAI
chol: dgior 2A (=R
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t
pJ 275,000
= 82,500
01 AXISHHRE2ES 357,500 682,500 A325,000
OdaIZ sia=22 Y 4N JIBtxd 357,500
| 275,000
= 82,500
goffetAe s 2AXIR 26,500 25,500 1,000
201 LEt2 | 7,000 5,500 1,500
01 AtR2teld] 7,000 5,500 1,500
Ogt=2H| 7,000
202 04| 10,000 10,000 0
01 =W0H| 10,000 10,000 0
Ogaiord 2™ HL =&l 10,000
203 HRF=&| 9,500 10,000 A500
03 AIBZ=XAHSFAIH| 9,500 10,000 A500
Ogoiord &2d AL =& 9,500
MEFALY O & XA 4,306,500 4,105,000 201,500
S R2HL (ALE HICHAI0IZE3E &XI) 4,000,000 4,000,000 0
4038 REXISHMSKH=0(H 4,000,000 4,000,000 0
01 AXISHHAE2ES 4,000,000 4,000,000 0
OAHE HiCHHI0I=22t &XI 4,000,000
A e 22 106,500 105,000 1,500
201 LBt2FH| 87,000 84,500 2,500
01 At22telt] 87,000 84,500 2,500
OMRUNE &2 80,000
Ogt=2H| 7,000
202 04| 10,000 10,500 A500
01 =LHOHI 10,000 10,500 A500
ONEMY HEFEA 10,000
203 ARF=&H| 9,500 10,000 A500
03 AIBZFRAHRZ=EIH| 9,500 10,000 A500
ONEIAY HEFA 9,500
SIS ArSE JI=XI3 Ak 200,000 0 200,000
4038 REXISHMSKH=01H 200,000 0 200,000
01 AHXISHHAE2ES 200,000 0 200,000
OS24 Atgst DX ArY 200,000
NS 47,668,900 48,072,700 A403,800
Xl 42,374,000
< 5,294,900
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VAR Pl

-

D NRA ST SHAY SH(FELX
b

He /X<

D NEdENY (9 &)
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t

NP/ =Nl 15,795,000 11,979,000 3,816,000
Xl 15,795,000

403 MXISMSAHE01H 15,795,000 11,979,000 3,816,000
Xl 15,795,000

01 AXISHHAE2ES 15,795,000 11,979,000 3,816,000
OXISIHL X 15,795,000
Xl 15,795,000

N2 ASKA 5,343,000 3,565,000 1,778,000
Xl 5,343,000

403 MXISHMSAHE01H 5,343,000 3,565,000 1,778,000
Xl 5,343,000

01 AXISHHAE2ES 5,343,000 3,565,000 1,778,000
OXN%¥+ SHEXA 5,343,000
Xl 5,343,000

SATENLNJA(HEETNA) 707,000 322,000 385,000
Xl 707,000

4038 REXISHMSKH=01H 707,000 322,000 385,000
Xl 707,000

01 RtXIEHHMR =22 = 707,000 322,000 385,000
OdEEIXNA 707,000
Xl 707,000

CASENLRI (E-AEXSA) 16,787,000 24,018,000 27,231,000
Xl 14,529,000
= 2,258,000

403 MXISHMSAHE01H 16,787,000 24,018,000 27,231,000
Xl 14,529,000
= 2,258,000

01 RtXISHMA=2E X 16,787,000 24,018,000 27,231,000
OSaEXa 16,787,000
Xl 14,529,000
< 2,258,000

HEXS D|SAIEXJ(AE) 3,000,000 8,000,000 25,000,000
Xl 2,000,000
= 1,000,000

401 AIEHIZL 20HY] 3,000,000 8,000,000 25,000,000
Xl 2,000,000
= 1,000,000

01 Al&Hl 2,980,000 7,980,000 25,000,000
OHEXIS J|BHAIE XA 2,980,000
Xl 1,980,000
= 1,000,000

03 AIE&=0HHI 20,000 20,000 0
OHEXNISE JIEAIZRIA AlESROHY] 20,000
Xl 20,000
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A AROOHE D

BE: N2 AT SAANY SL(REUXAHL/XALTAN)
chel: XARE N (=)
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t
HEXS JBAIE XA (XIR) 6,000,000 0 6,000,000
Xl 4,000,000
< 2,000,000
4038 REXISHMSKH=01H 6,000,000 0 6,000,000
Xl 4,000,000
= 2,000,000
01 AXISHHAE2ES 6,000,000 0 6,000,000
OHEXL J|BAIEXIA-AIZ 6,000,000
Xl 4,000,000
= 2,000,000
NSzl 2gX& 36,900 29,300 7,600
201 LEt2 | 11,000 9,500 1,500
01 At22teltl 11,000 9,500 1,500
Ogt===H| 8,000
OXNGgxzERA—ZS 2 3,000
202 o4 17,000 10,500 6,500
01 =W0H| 17,000 10,500 6,500
OXNgGZENY 22 =& 17,000
203 HRF=&| 8,900 9,300 A400
03 AIHZ=XAHSFAIH| 8,900 9,300 A400
OXNgZ&Neg g =& 8,900
NEZEgd 287,000 0 287,000
Xl 264,000
& 23,000
HE RS AT S=8 Adet 287,000 0 287,000
Xl 264,000
= 23,000
4038 REXISHMSKH=0(1H 287,000 0 287,000
Xl 264,000
= 23,000
01 RtXISHMA=2E X 287,000 0 287,000
ONE &g AN s=8 &H3t 287,000
Xl 264,000
= 23,000
HY2AZH|(ASLOIOHE D) (JIEH JIEL 80,260 67,060 13,200
Jl2Z| 80,260 67,060 13,200
J|12&l 80,260 67,060 13,200
201 LBt2 | 37,260 28,560 8,700
01 At22telt] 36,760 28,060 8,700
Ogbt=2H| S 36,760
02 2224l 500 500 0
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A ASOONE Dt
. HY LA (MROINL D) (JIEHDIE
&elr J|=3Hl (9 &)
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t
Oz22= & HAl 500
202 04| 9,400 7,900 1,500
01 =LHOHI 9,400 7,900 1,500
OMSRONE D HRF=E 9,400
203 YR F=&H| 9,600 10,800 A1,200
01 J|22HHRF=E| 6,000 6,600 A600
OMRZINY=S 29 6,000
04 EA2IHRFEI 3,600 4,200 A600
OAMd20g 1 29 3,600
204 A2 AH| 24,000 19,800 4,200
01 Mg AR A 24,000 19,800 4,200
o=% 7,200
Ont& 16,800
MPES(MPONL D) (SELX SN/ XSLEAI) 4,112,000 3,626,200 485,800
LHEAHHRKIZE 4,112,000 3,626,200 485,800
BASENADELHES A 2 4,112,000 3,626,200 485,800
701 JIEtel HISHES 4,112,000 3,626,200 485,800
01 JIEt2IHNZ=Z 4,112,000 3,626,200 485,800
OB ALYCXNADSHUNMELZ A (XISAY) 2,112,000
OB SN EHLHEHS| A (RIMAL) 2,000,000
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@
i’
ok
ol

e
H
B

)
KJ
3l
<
]
~ 0oH
<| R
K0 S

ol X0

e < OF

30 X0 3D
0 <)
0y &1 0}
H<H
100 7oy 700
70 H 10
10) 160 70

O
IF RO

=gl

-~

KI0

Hlw

2,280,200
2,282,600
120,400
20,000
20,000
20,000
149,600
149,600
149,600

/50,000

/50,000

ST
Ofl &koH

500,000
500,000
500,000
500,000
500,000
500,000
100,000
100,000
100,000
100,000
100,000
100,000

8,484,496
8,432,960
3,527,260
1,980,000
1,980,000
1,980,000

107,260

89,760
89,760

Ofl &4

100,000
880,000

20,000
500,000
500,000
500,000
500,000
500,000
500,000
500,000
500,000
100,000
100,000
100,000
100,000
100,000
100,000
100,000
100,000
149,600
149,600
149,600

10,764,696
5,510,000
5,254,696

10,715,560
5,510,000
5,205,560
3,406,860
2,000,000
2,000,000
2,000,000
1,000,000

Il
Il

149,600
57,260

39,760
39,760
30,000

F SRI(B1) - HIRAKY - BES

L

S

A

2| AL

=

o

(o]
=

At
&
PN

t

=
=

2HE P
2A

23t Xl
2

k

(i)

A
S

o
o
o
o
o
o

=
>
=
>
=
=)
=
>
=
>
=
>

L3012 Ol 8%D1=

308 AHXICHA|
308 AFXIEHK|
308 AHXICHA|
308 AFXIEHK|
308 AFXIEHK|
308 AHXICHA|

W
0D

H D
00 <F

80
0K
o)
oll

201

St
S

/50,000
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SN B SARIT
M SLSMARY (ALY - BSAIIY/AMHEE - DES
ChSl: BHUEIL SIS B4 U XIE (=R
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t
Ogit=2H| 3,400
Osteetcstate! 2 6,360
202 04| 15,000 15,000 0
01 =LHOHI 15,000 15,000 0
O atio|I2ad |4 HRFX 15,000
203 HFF=&H| 2,500 2,500 0
03 AIHZ=XAHRFAIH| 2,500 2,500 0
O304 |4 HARFX 2,500
ofgetetated =4 9 X 132,900 82,900 50,000
o Stest LA ZZ2) AlY 29 20,000 0 20,000
308 AXISHMSOIA 20,000 0 20,000
10 BI 12 SOHEHE A LAEAISH] 20,000 0 20,000
Ol &3t SLA T2 AlY 299 20,000
HEXR IIsSAE 2= & AZ3PI(E ¢4 100,000 0 100,000
K2AL (2R XH)
308 KXISHHISOIH 100,000 0 100,000
10 S| 2 SOICHEHE A X EFAISHI 100,000 0 100,000
Oz Jtsid g2 & AS3p|8 o7
K& 100,000
et shatd 54 23 3H| 12,900 12,900 0
201 LBt2FH| 3,000 3,000 0
01 At22teltl 3,000 3,000 0
Ogt===H| 3,000
202 o4l 7,500 7,500 0
01 =W0L| 7,500 7,500 0
Ot eatate! AR 7,500
203 L&l 2,400 2,400 0
03 AIHZ=XAHRFAIH| 2,400 2,400 0
Ol e eatdtd HRFE 2,400
SHEECHZHA WY 7,175,800 3,782,900 3,392,900
| 5,510,000
= 1,665,800
SHECHH A3 AMY 7,163,000 3,770,000 3,393,000
| 5,510,000
= 1,653,000
4038 REXISHMSKH=01H 7,163,000 3,770,000 3,393,000
| 5,510,000
= 1,653,000
01 XtXISHMA=2E X 7,163,000 3,770,000 3,393,000
Oetet gt st SAMERF =8 7,163,000
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@
i’
oF
ol

-~

KI0

Hlw

A100

A100
A100
A2,400
A2,400
A2,400

4,300
A4,200

A100

ST
Ofl &koH

12,900

3,000
3,000

7.500
7.500
2,400
2,400
51,536
51,536
51,536

40,536

39,536
1,000

Ofl &4

5,510,000

Jl

iy

1,653,000
12,800

3,000
3,000
3,000
7,500
7,500
7,500
2,300
2,300
2,300
49,136

49,136
49,136

36,236
35,336

9,600
20,236
5,500
900
900
9,900
9,900
9,900
3,000
3,000
3,000

F SRI(B1) - HIRAKY - BES

L

=M

&0
0K
oJ
oll

) (D1EHJIEH

01 AtR2t2ld|
01 =LHAHI

202 04l
=3

&0
0K
oJ
oll

01 ArR22t2ld|

HIAl

al
=

no

[0
H0

2

=2

1,900
1,900

8,000
8,000
3,000
3,000
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A NESSSH

M NASSH 2E3HAREN/=S)

ool NABSH Il

- _ _ AN L=
SN - B . O (3]H) - MISAY - B2 0f ko Oﬁgg D=2
XEZ2SH 26,128,297 26,920,774 ANT92,477
= 1,068,260
N 21,087,310
= 3,972,727
NEZSH SH3HAEER/ ES) 8,694,384 8,602,374 92,010
= 1,068,260
N 5,374,000
= 2,252,124
NE2BsH JI= 2,296,000 1,682,300 613,700
N 1,695,000
= 601,000
NESSH LAl Al 2,203,500 1,652,300 551,200
N 1,695,000
= 508,500
308 XXISHHSOIM 2,203,500 1,652,300 551,200
Xl 1,695,000
c 508,500
01 AXSHHFAEEZ 2,203,500 1,652,300 551,200
OXEZ2SH L2l AF 2,203,500
N 1,695,000
= 508,500
SsXE 435 XA 70,000 30,000 40,000
307 BI2t0| A 70,000 30,000 40,000
02 QI2HAAMAIE X 70,000 30,000 40,000
OgsLe 2435 X Al 70,000
XNEZ2SH I8 "3 22,500 0 22,500
201 UBr2y| 4,000 0 4,000
01 AFR22teidl 4,000 0 4,000
Oget=EH| 4,000
202 044 15,000 0 15,000
01 2| 15,000 0 15,000
OXNYEZ2SH I8 gd2=x=4d 15,000
203 E2=&IY| 3,500 0 3,500
03 AMHFRIHAL2FXIH| 3,500 0 3,500
OXd2=sH 718 g2=X 3,500
(Oib) AFSIED | I 6,094,742 6,663,438 A\568,69%6
= 1,004,000
Xl 3,679,000
c 1,411,742
ARSI R D | HSA AFIINEH|(RE) 211,000 220,000 A9,000
= 148,000
c 63,000
201 LB AH| 30,000 30,000 0
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D AEESH

D NEBESH 243HARIEX/ =S)
o (CIENARRIEDIY X

o
E]
o

S - FE - ERI(BH) - HIRARY - BAS

ST
Ofl &koH

i

21,000
9,000

01 AtR22t2ld|

OAtel®ED1g 22

Mo

30,000

30,000
21,000
9,000

30,000

307 212401

SRR

181,000

127,000
54,000

1

90,000

/9,000

W

181,000

181,000

127,000
54,000

1

90,000

9,000

>
ton
i)l
A
114
10
0x
=
114
=
ng
==
P
10

o

966,057

856,000
110,057

767,000

199,057

308 AXIHHSOIA

SRR

966, 057

856,000
110,057

767,000

199,057

o

966, 057

966,057

856,000
110,057

767,000

199,057

=

,102,000
2,820,000

282,000

4,445,100

308 AXIHHSOIA

=

RN w

,102,000
,820,000

282,000

4,445,100

1,343,100

Xl

H

w

n w

,102,000

,102,000
,820,000

282,000

4,445,100

1,343,100

=

461,585

409,000
52,585

357,143

104,442

308 AXIHHSOIA

=

461,585

409,000
52,585

357,143

104,442

01 AXHHBLERS

OARIEDIY MelEEE X

o

=

461,585

461,585

409,000
52,585

357,143

104,442

ASIEIIE AIEEHl XIEALS

100,000

100,000

403 MtXILHSK201H

100,000

100,000
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2A:
x‘l il—l:
I:|-O| :

ANSSSH ot
KNS SH gH3HABSX/ =S)
(GIENARRIEDIY X1

SA - B - SRI(EH) - AIRAY - BES ofl e o HI D2
01 XIS =22 100,000 100,000 0
OAEIEDIY AlEZHIHl XA 100,000
ARIEDIY MERH 2d 2 |4 560,000 0 560,000
307 21Zho|™ 260,000 0 260,000
02 QIFAMSES 260,000 0 260,000
OAt2lHD|g H#H2HE HEH29 60,000
OAr2IHZH HE20l ¢y 200,000
308 AFXIEtHISOIE 300,000 0 300,000
10 SIS0t & EAS A 300,000 0 300,000
OZSAHI ISR HE 2 300,000
02018 =4(238) 240,000 238,000 2,000
N 120,000
= 120,000
307 21Zho|d 240,000 238,000 2,000
N 120,000
= 120,000
02 QIIFAMSES 240,000 238,000 2,000
Olt=71g8 AEE XJAL 192,000
N 96,000
< 9,000
OolE?1g dgXd 2208 48,000
N 24,000
= 24,000
02018 S4(XI) 429,000 513,500 284,500
N 330,000
= 99,000
308 AXIHHSOIA 429,000 513,500 84,500
N 330,000
= 99,000
01 AXHHBLEXS 429,000 513,500 284,500
OltE71g8 SEAE 429,000
N 330,000
= 99,000
M ED|IY XIE 23| 25,100 22,695 2,405
201 £gH=2g| 13,500 12,495 1,005
01 At=2telH| 13,500 12,495 1,005
Oget==ZH| 3,000
Oo=g=¢ 10,500
202 04l 10,000 7,700 2,300
01 2UAHI 10,000 7,700 2,300
OAt2lHDIg KId SRF2 10,000
203 BR=&H| 1,600 2,500 2900
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A NASSHL
H: NASSH 2E3HAREN/=S)
el (oENARRIEDIY X

SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t
03 AIBZFRAHRZ=EIH| 1,600 2,500 A900
OAMIZEDIY X SRFH 1,600
NEZsH =4 303,642 256,636 47,006
= 64,260
= 239,382
ZF2S0tE At FA 28,000 5,000 23,000
201 LBt2FH| 28,000 5,000 23,000
01 At22teltl 18,000 0 18,000
O&EL30tE S4E AHAEH 29 £ XA 18,000
03 A2 10,000 5,000 5,000
O&E=L30tE |28 M=l 5,000
O&=ZsitE NEX 954 s 5,000
230t2 MEFE XA 87,000 84,000 3,000
308 XHXISHISOIE 87,000 84,000 3,000
01 AP YEES 87,000 84,000 3,000
O&=Z3slits gdst N 87,000
dEsi0le Tz gk 4 176,642 159,936 16,706
= 64,260
& 112,382
308 RHXISHKISOIE 176,642 159,936 16,706
= 64,260
& 112,382
01 RMXSHHBNELZ 176,642 159,936 16,706
OdEs0E T2t g4 176,642
= 64,260
& 112,382
NE3sH 24 22 2| 12,000 7,700 4,300
201 LBt2 | 3,000 3,000 0
01 At22teltl 3,000 3,000 0
Ogt===H| 3,000
202 o4t 7,500 3,000 4,500
01 =W0H| 7,500 3,000 4,500
OXG3sH =4 HRFE 7,500
203 HFF=&H| 1,500 1,700 A200
03 AIBZFRAHRZ=EIH| 1,500 1,700 A200
OXG3sH =4 HRFE 1,500
SHEMEAAI(SEL XIS IHE/ XIS L T Al) 17,382,418 18,318,400 935,982
Xl 15,713,310
< 1,669, 108
N AHS MR HEAY 17,382,418 18,318,400 A935,982
Xl 15,713,310
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A NESSH Dt
HE: BRI (REUX AN L/ K AU AN
Chol: Tlsi=MED S (el &)
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t
= 1,669, 108
KNS HSMEA HAH A 4,637,018 5,810,000 1,172,982
X 4,308,910
& 333,108
4038 REXISHMSKH=0(1H 4,637,018 5,810,000 A1,172,982
X 4,308,910
& 333,108
01 AXISHHAE2ES 4,637,018 5,810,000 A1,172,982
Oks stits el && 780,000
o & Al 233,700
Xl 218,700
& 15,000
o0& oAl 233,700
Xl 218,700
& 15,000
ogtotz 312,600
Xl 291,600
& 21,000
OHEt 234 S glest Ast XA 450,000
ottE T 129,000
Xl 114,000
= 15,000
ogts= 215,000
Xl 190,000
= 25,000
oNHET 106,000
Xl 96,000
= 10,000
OUOICHA &t 2aXie| = 476,930
0 A 108,464
Xl 101,464
= 7,000
S ER 108,464
X 101,464
= 7,000
o= 151,538
Xl 142,538
= 9,000
oR&E 108,464
X 101,464
= 7,000
OAsIIet HI0I2 HICIZE sMEss 56,612
0 A 56,612
Xl 54,980
< 1,632
OJHA M A AR 2 ALY 806,250
o= ZAl 451,500
Xl 420,000
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2A:
X XH -
[l B

ool

LR

- SHRA(ZA) - MISAY - BES

Ofl &4

ST
Ofl &koH

0HHIAl

OFEHILH 2letd HL2EAS

OAFELA|

OADIED =28 MHotE tHEMAH 2=
oZ!oHAl

H1

Xl

H

= M=

=

= M= M=

M =

=

=

Xl

H

=

31,500
354,750
330,000

24,750
430,000

152,000
141,000
11,000
126,000
118,000

8,000
152,000
141,000
11,000
967,500
224,880
209,200
15,680
241,220
224,400
16,820
212,450
197,600
14,850
283,950
268,800
20, 150
309,600

154,800
144,000

10,800
154,800
144,000

10,800
360, 126

180,063
167,500
12,563
180,063
167,500
12,563

FHotX T HE(SAHE)

Xl

H

7,008,000

6,370,000
638,000

8,851,000

1,843,000

403 RtXILMEX=201H

=

7,008,000

6,370,000
638,000

8,851,000

1,843,000

01 XIS =22

7,008,000

8,851,000

A1,843,000
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M X2
XN ZH: SHE
(= [==Tn|

ol X

R
o
40
F]
o
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101 e12H| 141,000 141,000 0
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SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t
NREA2I D 7,731,895 3,821,423 3,910,472
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NEEA 28 8435t 42,100 34,000 8,100
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ONSEA 29 2dst HRF 3,200
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01 M=l 5,000 5,000 0
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g DEgLNA
ChSl: BEE BACAl A (=R
SA - B - SRI(EH) - AIRAY - BES ofl e o HI D2
202 04l 20,000 0 20,000
N 10,000
= 10,000
01 2L AL 20,000 0 20,000
OZZEATAl SeiAH 435 =& 0] 20,000
N 10,000
= 10,000
SAEAl SHAH 2435 X 50,000 0 50,000
N 25,000
= 25,000
308 AFXIEH SO 50,000 0 50,000
N 25,000
= 25,000
01 AXHHBLEES 50,000 0 50,000
OZEEHATAl 0|&I|2t SAHA NISE=2H At
X2 50,000
N 25,000
= 25,000
SAEAl NG2EA = 200,000 0 200,000
= 200,000
207 S0 200,000 0 200,000
= 200,000
01 H1ESH| 200,000 0 200,000
OZGEUTAl XGgdAE 8 =9 200,000
= 200,000
SAITAl Ol&D |2 OIFE &= X 150,000 250,000 100,000
308 MXIHHSOIH 150,000 250,000 100,000
01 HXIHtH B 2ES 150,000 250,000 100,000
OZGHATAl 0|82 SALL OIF8 &3 150,000
SAIZAl Ol&D 2 Eets K& 10,000 10,000 0
308 MAIHHMSOIA 10,000 10,000 0
01 AXHHBLEES 10,000 10,000 0
ORLBAITAl OIFIIZ ZAT SIS
gst=s 10,000
HYPAIHI(MREA2Z ) (J1EHJIE 131,262 153,762 A22,500
Jl=34] 131,262 153,762 22,500
Jl=23| 131,262 153,762 A22,500
201 £gk=g| 113,871 112,471 1,400
01 At=2te|H| 110,871 109,471 1,400
Oget==ZH| 30,130
O2d+g(g=Hl) 70,220
o=l 800

- 717 -



FA AREAI2E
A HI2LLHI(MREA2LD) (DIEHIIEH
el J1=23l

S - EB . SI(BH) - HIRA - e bl DS

O=gtl 4,500
odxz S 5,221
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O=U0I 13,191

203 L&l 4,200 4,200 0
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FN2ITRFEHI 4,200
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